g Al A

A
=

Ol &b A

Al

< (e} © < o o < o © o (] (] o o o) o)
(@] N~ < (o0} [V} Al D o o < < 00} 00}
-+ —|lo | == ol [ »
no —|o | < | < < | <
o | 2@ << q (<
E
E=)
(V) < o [<o] o o (<] Al < o o o o o o o < <t o
— < © [N < < [N @ D © © o (=] o o o ™ ™ o
© (V) [e] [e o] [e ] [ee] [ep] — — [0))] ()] [ [ o o o o © ™
.Alu, % % M < | < % _o/o © o |o NN H — w % ﬂ m
WH3r | @|® |~ | —
wy | ©
RIS
(e} <t <t [aN] () () () [qN] Al Al o o o o o o o o o o o o o o o o o [QN) [N} o o o
— — — D [¢e) (<o) (<o) ™ [ep) [ep) o o o o o o o o o o o o o o o o o Al [QN] o o o
—|loleZ|a2|e S|l 2 & S &9 @S |B|n BIRIES|IS|IS S S S|e|y8|mn S &
QO N~ Y] o Te) Y] Y] o ) <t — o (oo} w (ap) o () () (aV] (V) [aV] — — — o o Al [aV) [aV) o
ar o |~
<
=}
oll ofl <l o <r <r o] <r <r <r Kio AJ
Iee) N - BN —_- - - 10 — — — oVl =)
X X £ H__l X x x x x x x x x o
oir ) _ W o~ oW W - G| o o W *
0 =) oll S — oS o o g0 o o o o —
X - ~ S <o S S5 S ~ S S S S of)
o ﬂ_| o (@) o (@) o o o o (@) o
m._ * * - o - - - x - -~ .Ao - - o
. S Jio S 8 8 S S S S <
of) T 8o s <8 S © & o) = WS M8 ) 11—
ol S m < = B9 o - S N = o = = <
= a0 < * e S FA Dﬂ__ <F
o+ — I+ R o =< <3 - ™ ior
= = oJ ok m K0 p Kr
< i = S S — s oF 100
. ol < n < - < i 4
= il K A I - R w0 I+ 2
= <k e D ol o oll
= ur ™ o S K m K R = .
Gl 3 o e o i = m oo
F W = I Kt o Ko 0H o = 0
i KJ = M ol - |D O Eal = ol o |3 RJ | Mo = O 7|l D D h ol
R K- | = n ok B0 | 3D 80 Ho - & Rl ROKF | %0 &0 20 o ar 30 [ <l
- = | T (= W || W 0H = 3 W K- | K & | M + M A Solw | T W
R’ = | % U R I N R MW = S| @ |0|F 2| w @& [ Z|mot ™
RO m o~ 1 |=] O ol |= O Mo O S| O B |=< O ol O ~ O =l |z O O
. ) — | < — | = au | = ®» | » — [N W | ==
[EN = o |o o |o =) o |o oS | o — - o |o
g ) — sV eV eV ™ i) eV
- R W =
R e
Ho | LA

E]




2AMd: DS
MY AN DEMWH £
Eel: ns2el(LEANNSALSESA) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OHSEII2E ARES ¢
100,000& * 12& 1,200
OHSEIX 2E dlE =2l
20,0003 = 304 600
OUHE SEDIMN ¥ X2 |
0,000& = 10=FA « 128 7,200
02 =224l 59,922 59,334 588
OBEZ SZDXNM L& 282
300& = 100,000 30,000
OLEHZE MEINEEHR =8
200,000& = 123 2,400
OAXNAMEEI FANE=HI 150,000& =+ 33l 450
OlHiE dNAF2ACIALE OIS
9,000,000& = 14l 9,000
ODEHE ARSH R AUAAEY =HHAS =2
500,000&  12& 6,000
OLHE ARSERHUHAIAE RXE =+
1,500,000 * 42 7| 6,000
OAGIEE AAZF HEES AIAH SRS
50,000 = 441 = 128 2,400
OAGEEZ MEHSAAY RAE
330,000& » 4=27D| 1,320
OXNSETHE IINANAE RANE=>
588,000& » 4=2D| 2,352
202 044l 5,400 5,400 0
01 = LH o4 1l 5,400 5,400 0
OHML AT 212 2= 0jb|
20,000& = 3% = 903/ 5,400
303 Z& 3 5,000 5,000 0
01 243 5,000 5,000 0
ODNEE ALY YLEHD
5,000,000& * 14l 5,000
ANEZC (AENLSAMEELESIA) 1,581,700 527,620 1,054,080
Xhd &= A4 1,136,700 73,620 1,063,080
201 ¢er24| 9,700 10,100 A 400
01 At 22l 4,700 0 4,700
O M4 JtAa7 Y 1,500,000 = 14! 1,500
OXEMAHAI SXNE = 1,000,000& = 3CH 3,000
O MR SFMNERES 200,000& * 14 200
02 2324l 5,000 10,100 25,100
OBHA HHTM JTEH 2482
5,000,000& = 14 5,000
202 044l 6,000 5,520 480
01 = LH o4 1l 6,000 5,520 480




2N 1S
Hu: CAX DERH =X
chel: A2l (FEANRSAMESESA) (&)
5 - 4
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OnEANE 2= bl
20,000& = 6H = 503l 6,000
206 M= Hl 13,000 55,000 A 42,000
01 =8l 13,000 55,000 A 42,000
OXNEEME HOE 7¢ 80,000& * 100 8,000
OXNEEME HE P2 50,000& = 100 5,000
305 a2 S 3,000 3,000 0
01 & =S 3,000 3,000 0
OXNEEM =AM e XISF3E BE&2
3,000,000& = 14 3,000
401 AIEHIZ 28I 1,105,000 0 1,105,000
01 A& tl 1,100,000 0 1,100,000
OsFA X &AM 700,000,000& * 14 700,000
O&Eal Xt M 400,000,000& = 14| 400,000
03 Al =2 THHI 5,000 0 5,000
OAIZ 2 HHI 5,000,000& = 14l 5,000
dMss X 2 2el 445,000 454,000 A9,000
201 LB-2%| 108,000 102,000 6,000
02 83323l 108,000 102,000 6,000
Odls, 388 &Iz 9,000,000& = 12& 108,000
401 Al Bl 2B 337,000 352,000 A 15,000
01 A& HI 332,000 347,000 A 15,000
Ounstlssdxl 50,000,000& = 14 50,000
OL=FHMAHI A 7,000,000 » 50 A 35,000
Ogd2dss & 12,000,000& * 1JH 2 12,000
OLEDEX & & X 3,000,000& * 5JH £ 15,000
Onsilss FRANE=> 160,000,000 * 1A 160,000
OSgdzI| &xX 2,000,000& * 1000 2 20,000
Odls AS3st Ex=Z A 20,000,000& * 14 20,000
Of&s &X 2,000,000& * 1004 2 20,000
03 AIE 2 0HHI 5,000 5,000 0
OnsHsE AL 5,000,000& = 14l 5,000
IS NsEd = 3,035,595 2,601,183 434,412
YR A2 (LENNSAILELZA) 466,620 1,307,778 A 841,158
SH=Z X 2l 466,620 711,946 A 245,326
101 14 Hl 48,036 46,920 1,116
04 JIZHZ2Z2XREES 48,036 46,920 1,116
OFE& XY =Rt oA 48,036
=JIE= 67,0003 * 2% » 230 30,820
oFF 67,0003 * 29 « 46 6,164




A S
oIt

HE: AUZY NEBY 7=
S AP 22 (LEALSALSELS H) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o ARt 67,000 * 29 x 11 1,474
o Al 2te =% 12,570 = 150Al2F = 2H 3,771
o4l E 42,229,000 * 13.75% 5,807
201 2Et24Hy| 155,940 202,938 N 46,998
01 AP 2t 2] H| 37,040 38,440 A 1,400
OFXE=3 I=y| 400,000 = 7H 2,800
OYHFEXN=2A AL A28 22
10,000,000& = 1A 10,000
ORolEs g AAMSY A
8,000& * 5 » 82 * 12& 3,840
OunsEdHe =22 M= 5,000,000& = 1Al 5,000
Ot wEes JIANNM 2
4,000,000& = 1A 4,000
ONSHEDE 2Y+ Y
70,0008 * 4% « 53| 1,400
O=HXct= WEHZE DANA L oME [
10,000,000& = 1Al 10,000
02 Z2=2=24%4| 110,680 164,498 AN53,818
OEAMNFBYRE T2 I (28)
700,000 ~ 12€ 8,400
OANE SIS AHH A X 22|
11,000,000& = {14l 11,000
OXsENH(BEE2, £&4H &)
500,000& = 3CH ~ 12€ 18,000
OXE SFUH (=X, M, AR
280,000& = 6CH ~ 12€ 20,160
OXFFI SIY DEHE 2a W2
2,130 = 2,000 ~ 12€ 51,120
Of2derxIxe HXdl XIg 200,000 « 1004 2,000
03 Al HH| 8,220 0 8,220
OollE0| HAF WESALA =&
110,000€ = 20& * 2¢ 4,400
OdlE0| HAF WEESAX SFH|
30,000 = 501 = 2 300
Oodll=0| HAF WEZSALA S4lH|
8,0008 » 20 x 2¢ 320
Odl=0| HAF WESAA JHUET 2
80,000& = 40Y¥ 3,200
202 044l 27,600 30,900 A 3,300
01 2L Y| 27,600 30,900 A 3,300
OSANEYR L AIgH 22 S0
20,000& = 109 * 1383 27,600
301 et A= 4,100 4,100 0
09 HAIAHI BEAZ 2,000 2,000 0
OuUNSSAIE0F #HAZENH X
200,000€ * 5% x 23| 2,000




A S
oIt

HE: AUZY NEBY 7=
S AP 22 (LEALSALSELS H) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
12 JIEtE2 A= 2,100 2,100 0
OnNsSAMINEEESHY II=SH K&
300,000 = 7H4 2,100
305 HHA2S 5,000 5,000 0
01 HH&AZ2S 5,000 5,000 0
ORXEFAQ 3= HiAZ 5,000,000 = 1A 5,000
307 QI2t0| ™ 9,000 9,000 0
02 AI2tAAMAIE E =X 9,000 9,000 0
ONEE SAIE2=H XN&
11,250,000 * 80% 9,000
401 AlEHIZ £ 0HY| 206,944 298,888 A 91,944
01 Al&EH| 205,000 296,980 A 91,980
OR0oIItH et & Xl 35,000,000 * 34 105,000
ORolt= Il SsHe
10,000,000& = 5CH 50,000
OCCTV =X&= ot E X Z & X
30,000,000& = 14! 30,000
OXHO=SAHA 249 20,000,000 * 14! 20,000
03 AlE 21| 1,944 1,908 36
OAlIE 20t 1,944 000& = 14! 1,944
405 XH&HF S HI 10,000 114,200 A 104,200
01 XA E B F S| 10,000 114,200 A 104,200
O=8l el 10,000,000& = 14 10,000
WEEA HHSHUZSANULSAMIEES H) 2,263,975 1,293,405 970,570
F=XE S X2l 1,326,969 431,414 895,555
101 e1214| 123,669 113,414 10,255
04 J|12ZtHIZ22NEES 123,669 113,414 10,255
OXYFZIE (2T, =2F) LAAMAE o 123,669
ollgz 72,0008 = 5 x 230 82,800
oHIXIx=H 72,000 ~ HhH x 11g 3,960
oFE 4G 72,000 x 5% x 46 16,560
oAzt S g
13,500 = 5% % 8A|2F = 10Y 5,400
cAHEE 22 108,720,000 * 13.75% 14,949
201 Bt 49d]| 393,000 108,000 285,000
01 AP 22| H| 388,000 58,000 330,000
OSYFXE HE&EH Xz
30,000,000 = 14! 30,000
OBYFAY HY2SY 428 7Y
8,000,000& = 1A 8,000
OFXa EX dx=2 350,000,000 = 14! 350,000




2N

HE: UZH NEBY 7=
©el: nsEd HAS(LEANLSMHEELSA) (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 =224l 5,000 50,000 A 45,000
O3Z=xd &HIIKs 5,000,000 = 14l 5,000
305 a2 S 5,000 5,000 0
01 tHaf=8 5,000 5,000 0
O3EFUNE(AIZ2ZE) HEFE B4
5,000,000 = 14l 5,000
401 AIEHI L 2 CHYI 805,000 205,000 600,000
01 A& HI 800,000 200,000 600,000
OBEEXNE T4 L SX2S
600,000,000& * 14! 600,000
OFXt 2HEH X & |FXNE+
50,000,000& * 14l 50,000
Os2X7 =32 &2AY
150,000,000& * 14! 150,000
03 Al S THHI 5,000 5,000 0
OAIZ 2 HHI 5,000,000& = 14 5,000
405 XtatE SHI 300 0 300
01 AR ESFH S 300 0 300
OZ2d=:xa d&n 7¢ 300,000& * 14 300
SLE(HA - 8A) X L 22 371,000 371,000 0
201 ¢er24l 6,000 6,000 0
01 At 2t 2l 6,000 6,000 0
OAMUWH A SEAIZE HHl(=4d)
6,000,000& = 14 6,000
401 Al HIZ 201 Y| 365,000 365,000 0
01 A& Bl 360,000 360,000 0
Oosdd Faze 20,000,000& = 14 20,000
Os2&d RAE* 90,000,000& =« 14 90,000
O5TH 24 2 =3A4 DA
150,000,000& * 14 150,000
Oosdd 4xXl 100,000,000& * 14! 100,000
03 Al =2 THHI 5,000 5,000 0
OAIZ 2 HI 5,000,000& = 14 5,000
WSHEAIE X ¢ 2el 336,920 336,920 0
201 2et24d] 28,920 28,920 0
01 At 2teltl 22,920 22,920 0
OuUSAHTIANELEE 7Y
10,000,000& * 14 10,000
Ousetd 2= M 5,000,000& = 14 5,000
ONSAHAIL T SA
,000& » 4% » 60 1,920




EA: WEI
HH: 0INEA DEHY 7E
S NEEA HAHSM(LEALNEALEESH) (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
ONEgZE I Nosiasl Ba4g
100,000& = 10¥ * 63l 6,000
02 2224 4| 6,000 6,000 0
OANE AR =& H| 500,000 = 12& 6,000
206 M = dl 45,000 45,000 0
01 X2 bl 45,000 45,000 0
OANEREE 2 35,000& = 1,0004 35,000
ORLED| EXT R 50,000& = 20074 10,000
305 HHAZ2S 3,000 3,000 0
01 & Z2S 3,000 3,000 0
OuUuSANEZ0H 28 FaX S|
3,000,000& = 1Al 3,000
401 AlEHIZL 2 0HY| 260,000 260,000 0
01 Al&H| 255,000 255,000 0
OANKESEE &X 20,000,000& * 14! 20,000
OQuEetd=EX & & 100,000,000 * 14! 100,000
OUSESUHMAIE X2 100,000,000 = 1A 100,000
O0lHEZ M-I (Let=s) 20,000,000 = 14! 20,000
OZgetd&s & 15,000,000& = 14l 15,000
03 AlIEE2HH] 5,000 5,000 0]
QUECHH AIELE0HY] 5,000,000& = 1A 5,000
ol g1 4] 229,086 154,071 75,015
801 ol 1l Hl 229,086 154,071 75,015
01 LBholdl bl 138,646 154,071 N 15,425
oOgstoldldl 138,646,000 = 14! 138,646
B UHEREZ 90,440 0 90,440
ouss=E=2 90,440,000 * 14! 90,440
8= A= HIOEMNZE 2220/ SEF=XNE = 305,000 0 305,000
H(ULSANDEALELESAH)
dE - A2 HUOENZ 29F=1d X4 305,000 0 305,000
401 AlEHIZL 201 Y| 305,000 0 305,000
01 Al&H| 300,000 0 300,000
OBYENE 24 L RAPH
300,000,000& = 1A 300,000
03 AlE 201 | 5,000 0 5,000
OA& 20| 5,000,000& = 1Al 5,000
HELSAAH (LEW) 455,007 467,185 N12,178
CIASAY|(UEANDNEANAELHSH) 455,007 467,185 N12,178
ol =AY 455,007 467,185 N12,178
101 Q124 H| 455,007 467,185 N12,178




2AMd: DS
M HH2IZH (nsS)
thel: ALY (ZEAMNLSASEEEA)
SA - ZE-B(EN) - NRAY - B S il &t o il
03 RIAHAZ 22+ 455,007 467,185
ORI AHA2Z R 12| 455,007
=llegs 175,346
HYB X 1,457,808& » 5 » 12& 87,469
Aol 1,830,770& » 4% » 128 87,877
cMasy 9,444
Ao 2,360,770& = 100% * 4H 9,444
cJlg+g 48,044
HEE X 1,457,808& * 400% * 5Y 29,157
S AYols 2,360,770& = 200% * 4H 18,887
o HEFIHH| 20,079
HEE R
1,457,808& » 60% » 23| » 5H 8,747
zofolg
2,360,770& * 60% » 23| » 49 11,332
CcHIIRSFII=TE 10,304
A gols 128,800 * 4% » 20 10,304
cAN2422RFE 42,552
TEES
16,1003 = 5H » 20AI2H » 123 19,320
Tolole
24,2003 = 4Y « 20AI2t = 128 23,232
o ZAUGAY| 14,040
HEE X 130,000& = 5H = 123 7,800
ESgeepel e 130,000& * 4H » 12& 6,240
oM CtEY (HYOIR)
2,360,770& = 250% * 4%H 23,608
CUEEBXRHI(HYCR)
140,000& * 4H » 12& 6,720
CXEHLL(HYBE)
270,000& = 59 « 12& 16,200
cS4URLY(HAR)
160,000& * 4H » 12& 7,680
oRYFALY(RRR)
100,000& * 4H = 12& 4,800
oflMAT(RAOIR)
60,0003 * 4H » 123 2,880
oA (RroIR)
3,000 * 49Y = 22 « 128 3,168
CRRUARLY(BHEE)
100,000& = 5H = 12& 6,000
oXtHASHIE ==Y 467,080% * 7H * 43| 13,079
It Eg 6,720
- B Xt 40,000% * 78 * 123 3,360
- IHE 20,000& = 149H « 123 3,360




<

n0

Kio
E
T
H3r
uilEd
RIS
o (&)
S 0]
st & g§2g
i} s o S <
(=]
<
=}
50 2 22 32 2
vT £5%°
o N w o =
qq\_ x 4
n |3 . 5
oF oY
m 25 & g 3
S Bg 2 3 O
RN > [e o] © -
2o &3¢
Pl oc osEE
= T
| 5z
~ i
= m__u - -
@ 00 w0 i mm m_u
G o ©®0 00 00
g T T
i o s & oo
R &) ol ol o|u_ i
D ET gl
_Iﬁ 0 %0 1 %
G 0 0 5
20 0 0 0
X




